
v/kZokf"kZd ijh{kk 2015&16 

d{kk & vkBoha 

fo"k; & xf.kr 

le; % 3 ?k.Vk  iw.kkZad % 100 

[k.M& v @ SECTION – A

iz-1 ,-Vh-,e- ls vki D;k le>rs gS\ 

What do you understand by ATM? 

iz-2 ewy/ku = 5000 :- nj = 5 izfr'kr okf"kZd le; = 2 o"kZ] feJ/ku Kkr dhft,A 

Given principal = Rs. 5000, Rate = 5% p.a Time = 2 years. 

iz-3- ,d flykbZ e'khu dk vafdr ewY; 1280 :- gSA bl ij nqdkunkj }kjk 5 izfr'kr cV~Vk 

fn;k tkrk gSA flykbZ e'khu dk foØ; ewY; D;k gksxk\ 

The market price of a sewing machine is Rs. 1280. Shopkeeper gives 5% discount. What 

is the selling price of the Machine? 

iz-4- prqHkqZt dh jpuk dhft,A 

Construct quadrilaterals ABCD of the following given measure ment. 

AB = 4cm, BC = 6cm, CD = 5 cm, AD = 5.5 cm and AC = 8 cm. 

iz-5 ,d oR̀r ij fLFkr nks fcUnqvksa }kjk cus y?kq vkSj nh?kZ pkiksa esa mudh ekiksa dk vuqikr 1%2 

gSA nksuks pkiksa dh eki crkb,A 

The ratio of the measures of the minor are and the major arc are formed by two points on 

a circle is 1:2. Find the measures of Both the arcs. 

iz-6 lw= yxkdj xq.kk djsA 

Write the product form using the identity. 
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iz-7- O;atdksa dk eku izlkfjr :i esa fyf[k,A 

Write the following expressions in expanded form. 
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iz-8 pØof̀) C;kt Kkr dhft, fcuk lw= yxk, 3600 :- ij 2 o"kZ ds fy, 7 izfr'kr okf"kZd 

dh nj ls 

Find the compound Interest without using formula. On 3600 for 2 years at 7% per annum. 

iz-9 cpr [kkrs dk eq[; mn~ns'; D;k gSA 

What is the main objective of a saving Bank Account? 

iz-10 foLr̀r :i esa fyf[k,A 

Expand each of the following. 
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iz-11 y?kqmRrjh; iz'u& ^^dksbZ&5**  ¼5×6=30½ 

Simplify (a) (5x+6) and 3x. 

1- ABCD prqHkqZt dh jpuk dhft, ftle 060A , 080B , 075C AB = 5 cm, 

BC = 6 cm

Draw a quadrilateral ABCD in which 060A , 080B , 075C AB = 5 cm, 

BC = 6 cm. 

2- vxj x+2y=8 vkSj xy=6 gS rks x
3
+8y

3 dk eku Kkr dhft,A 

If  x+2y=8 and xy=6. Find the value of x
3
+8y

3

3- jaxhu Vh-oh- Ø; djus gsrq ekfj;k us 8192 :- m/kkj fy,A ;fn C;kt N% ekgh x.kuk 

ij 12-5 izfro"kZ dh nj ij gks rks 
2

1
1 o"kZ ckn ekfj;k dks fdruh jkf'k pqdkuh gksxhA 
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Maria borrowed Rs. 8192 to purchase a colour T.V. If Interest is compound six 

monthly at a rate of 12.5% per year what amount win be payable by Mario after 
2

1
1

year. 

4- dsUnz ls 5 lseh nwjLFk o`Rr dh ,d thok dh yEckbZ 24 lseh gSA oR̀r dh f=T;k Kkr 

dhft,A 

A chord 5cm apart from the centre of a circle is 24 cm long. Find the radius? 

5- ljy djs (Simplify)

(a) (2x+5)
3
 – (2x – 5)

3
(b) x

3
 + 64y

3
 +12x

2
y + 48xy

2

6- gy djsA (Simplify)

(a) (p+q+r)
2
 + (p-q-r)

2
(b) (102) × (98) 

 [k.M& c @ SECTION – B  (10) 

iz-1 tksM+h cukb,A 

Match the following. 

(a) (a+b)
2

quotient × divisor + remainder 

Hkktd × HkkxQy + 'ks"kQy

(b) (a-b)
3

x
2
 + (a + b) x + ab

(c) Dividend HkkT; a
3
 – 3ab (a-b)- b

3

(d) (x+a) (x+b) x
2
- 9x

2

(e) (x-3x) (x+3x) a
2
 + 2ab + b

2

iz-2 lgh @ xyr   (True / False)

1. ^^pkyw [kkrk** ij cSad }kjk C;kt fn;k tkrk gSA

'Banks pays' interest in current account. ¼  ½
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2- prqHkqZt ds vkdkj dh ,d f[kM+dh ds Qsze dk ,d fod.kZ nwljs fod.kZ ls yEck gSA 

;g Qzse vk;r ds vkdkj dk gSA 

One diagonal of a quadrilateral shape window frame is bigger than the other 

diagonal. The shape of this frame is rectangular. ¼  ½

3- fdlh le prqHkqZt ds fod.kZ cjkcj gks rks og oxZ Hkh gksxkA 

'Banks pays' interest in current account. ¼  ½

4- ;fn nks lekUrj js[kkvksa dks ,d fr;Zd Nanh js[kk dkVs rks izR;sd ;qXe esa nksuksa dks.k 

cjkcj gksrs gSA 

A traversal to two parallel lines makes equal at ternate angles in each pair. (   ) 

5- fdlh f=Hkqt dh ,d Hkqtk ds e/; fcUnq ls nwljh Hkqtk ds lekUrj [khaph x;h js[kk 

rhljh Hkqtk dks lef}Hkkftr ugha djrh gSA 

A line drawn parallel to a side of a triangle through Mid-point of another side 

bisects the third side.   (    ) 

iz-3 [kkyh LFkku Hkfj,A (Fill in the Blanks)

1. (a+b)
3
 = a

3
 + .......... a

2
b + 3a ......+ b

3

2. (a+b)
3
 = a

3
 ........... 3a

2
b .........3ab

2
 ..........b

3

3. Amt = ..............

n







 

100
1

4. pØh; fcUnqvksa dks -----------------fcUnq Hkh dgrs gSA

Cycle points are also called......................... 

5. pØh; prqHkqZt ds lEeq[k dks.k ,d&nwljs ds ----------------- gksrs gSA

Opposite angles of a cyclic quadrilateral are ..................... 

6. pØh; fcUnq fdlh ---------------prqHkqZt ds pkjks 'kh"kZ gksrs gSA
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Co cyclic points are vertices of a ..............quadrilateral 

7. ftl prqHkqZt ds pkjks 'kh"kZ fdlh oR̀r ij fLFkr gks og -----------------dgykrk gSA

The quadrilateral whose all four vertices lie on circle is called a ................. 

8. (a – b + c)
2
 = ........... + (-b)

2
 + (c)

2
 + 2(a) (-b) + 2 (-b) (c) + 2 .............

9. (x + a) (x + b) = x
2
 + (a + b) ........... + ................

10. ykHk = foØ; ewY; = -------------------------

Profit = S.P. = ........................... 
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